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th

Which of the following is the method
of memorisation ?

(1)  Mixed methed

(2) Association of Ideas method
(3) (1) and (2) both

(4) None of these

Pavlov  had  expounded the
Conditioned-Response Theory of
Leaming by conducting experiment

on .
(1) Rabbit (2) Mouse
(3) Dog (4) Cat

Learning curves are indicator of
(1) progress in leaming

(2) originality in leaming

(3) dynamic character of learning
(4) creativity in leaming

While teaching, which of (he
following should predominantly be
Kkept in mind by the teacher ?

(1) Subject matter

(2) Age of students

(3) Individual differences

(4) Family background of students

According to Kurtlewin, the changes

which take place within a group are
called .

(1) reciprocity

(2) creativity

(3) dynamism

(4) cohesiveness

Mental health and
closely related.

(1) attitude (2) acceptance
(3) avoidance (4) adjustment

are very

Which of the following provides
more freedom to learners ?

(1) Structuralism

(2) Functionalism

(3) Behaviourism.

(4) Constructivism
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(3) Values (4)

Fhidd Mosine NMuaodel of Intelhigena
was piven by

() Cattell (2)
) Thurstone (4)

Guilford
Spearman

Which of the following is most
preferred quality of a measuring
tool ?

(1) Reliability (2)
(3) Objectivity (4)

Validity
Norms

Thurstone and Lickert are associated
with measurement of

(1) Intelligence (2) Attitude
Personality

Test of Inquisitiveness is a component
of

(1) Creativity (2)
(3) Interest 4)

Motivation
Intelligence.

Which of the following is not
associated with Creativity ?

(1) Originality  (2) Fluency
(3) Economy (4) Utility

Gagne is associated with which of
the following ?

(1) Hicrarchical Order of Leaming
(2) Theories of Leamning

(3)  Evaluation of Leaming

(4)  Management of Learning

Which of the following is true about

1.Q?

(1) Inversely related to Mental Age.

(2) Directly related to
Chronological Age.

(3) Inversely related to
Chronological Age.

{(4) Directly related to both Mcntal

and Chronological Age.

16-PF is used to measure which of
the following ?

(1) Creativity (2) Interest
(3) * Personality .(4) Stress
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Chess and Cards can be elassified as
(1) Fighting Play

(2) Intellcctual Play

(3) Experimental Play

(4) Movement Play

The best suitable place for cognitive
development of child is ;

(1) Playground
(2) Auditorium

(3) Home

4 Sch_ool and classroom
environment _

What are the sources of motivation ?

(1) Need ; (2) Drive

(3) Motives '(4) Interest

Permanent changes in behaviour with
practice is called

(1) Leaming (2) Thinking
(3) Doing (4) Imagine

Which factor is not related with
memory as mentioned below ?

(1) Recognition (2) Retention
(3) Recall (4) Fecling

Motivation Theory of Maslow is
called ot '

(1) Principle of Need

(2) Physical Principle

(3) Strong Will Power Principle
(4) Principle of Drive

Which one leadership style is better
in a schodl for the head teacher or
senior teacher *

(1) Authoritarian leadership

(2) Democratic leadership

(3) Laissez fhire leadership

(4) None of the above

“Investigation of laws of mentsl
health and maintains” was focused off
(1) Sheifr =~ (2) Headfleld

(3) Drevér (4) Ladell - -
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24. Which period of developmant s
called. *A period of great slress and
strain’ ?

(1) Adolescence (2) Adulthood
(3) Middle age (4) Old age

25. Attitudeisa
(1) Cognitive concept
(2) Conative concept
(3) Affective concept.
(4) Alltheabove 1. s

i hf"f O 1

26. According osis;s

intelligence ia -
€1) the abllitytolwn. '

() capacnytocmyonabsh-act
thinking.

(3) either (1) or (2).
(4) both (1) and (2).

27. Motivation has the same relation

with achievement as leaming has °

with
(1) reasoning (2) thinking
(3) understanding (4) discernment

28. Thomdike ‘has classified the,
personality on the basis of
(1)  physique and appearance
(2) creativity and originality
(3) adjustment and inte'ligence
(4) thinking and imagination

29. Which one is the theory of forgetting
from the following ?
(1) Compeﬁtivo inhihitlon
(2) Retroactive inhibition
(3) Instructed fnhibitioh
(4) Reflec ticm

30. All of the following show ﬂm of
mental disohde¢ except }

() Frusttion  (2) ruiuo_n
(3) Relation  (4) - Anxiety
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PARI I

FLANGUAGE-2 NG ISH

Candidates should answer the questions from the following part only if they have opted

for ENGLISH as LANGUAGE - 2.

61.

62,

63.

66.

67.

Choose the most appropriate
meaning of the given phrase.

‘Fabian policy’

(1) Dictatorial policy

(2) Democratic policy

(3) Market policy

(4) Policy of using gradual reforms
What does the following sentence
mean ? '

Pt. Jawaharlal Nehru loved to be up
with the lark.

(1) Nehruji woke up early in the

moming,

2) Nehruji was punctual.

3) Went to bed early.

4) Did not wake up early in the
moming.

Synonym of the word

ajole’
El; Coax 2; Evince

3) Congratulate (4) Clarify
Which is not a quality of good
handwriting ?
(1) Legibility
(2) Distinctiveness

(3) Spacing
(4) Absence of uniformity in the
size of letters

Remedial teaching involves
El teaching and testing
2) testing continuously
3) teaching, testing and reteaching
gf_lh teaching difficult topics

e Right of Children to Free and
Compulsory Education Act was
pfoposed by.the Indian Parliament on
4™ August 2009. When did this law
come into effect in India except the

State o&lammu and Kashmir ?
1) § i August, 2009

17 January, 2010
3) 1™ April, 2010

4) 1" July, 2010~

oose the correct answer : _
What is rote leaming 7
(1) Mechanical or habitual leaming
without understanding p y.
(2) Leaming with great*zeal and
enthusiasm.

(3) Leaming without interest.
(4 Nll‘hao above

68.

69.

70.

71,

72,

73.

74.

Identify the correct reported form of
the given sentence :

My friend said, “You must accept
this gift.”

(1y My friend asked that I must

accept that gift.
(2) My friend said that you must
accept that gift.
(3) My friend retgxested that I must
&cce%silhla gift.
(4) My friend insisted that I must
accept that gift. '
What is noun of the word ‘Pedagogic’ ?
1) Pedagogically
2) Pedagogical
3) Pedagogue
(4) None of the above

oose the ap%rppriate answer :
What is the bitter truth of school
education in India ?

(1) High quality teaching and

(2) Emphagsis on memorisation and
completing a pre-determined
syllabus.

3) venment  and  private
schools are equally good.

(4) Every child n school is paid
attention for his growth.

Name the poct of the poem.

‘The Solltaril Reaper’

1) P.B. Shelley

2) Keats

3) William Wordsworth
4) Coleridge

How many words are wrongly spelt

in the sentence below :

The nurse wraped a bandege round

his head .
El; i 2) 2.

3) 3 {4; None
‘You are probably sleepy, because
you %

Choose the most appropriate answer)
are yawning a lot
went out for lunch
‘ate too much chocolates
watched a movie

ng Lear' was written by .

Willtin, Shak

1

OB Shaw T oas
TS, Blfot

e b NG e

Ld B s

4
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76.

71.

78,

9.

81.

lmnl'u'rll!} et wond
(1) Microscope (1) Opague
(3 (4)  Monarchy
Verb of ALTERNATION

(1) Altemative

(2) Alteration

(3) Ablemate

(4) Altematively

Certain parts of the following sentences
have been underlined and marked.

Pick owtth

Mosaice

Select the part containing an error :
This is not the first time
(1) (2)

I am hearing of your insubordination.
3) 4) |

In the given two sentences, select
from the answer choice the word
which has the same meaning and can
be used in the same context as the
undcrlined part of both the sentences:
(i) The organisation was
established at the beginning of
this century.

The little girl could not twist
the cap off the bottles.

(1) Crack (2) Break

(3) Loosen (4) Tum
Choose one word for the following
expression :

“At sixes and sevens’

(1) Scattered (2) Under control
(3) Foulorfair (4) To apologise

Fill in the blanks by choosing the
most suitable word given below :

(i1)

Much that was in ancient
Indian culture has already perished.
(1) useless (2) violent
(3] religious (4) prevalent

“Lines ¢composed a few miles above
Tintern Abbey” is a poem composed

- by which poet ?

William Butler Yeats
Edgar Allen Poe

Samuel Taylor Coleridge
William Wordsworth

(1)
(2)
)
4)

N

83.

8S.

W
Choose the correct Synonym for the
word given below -

Treason
(1). Disloyalty (2) Passion
(3) Miserable (4) Disappear

Choose the correct Antonym for the
word given below :

Debtor

(1) Reluctant 52) Rigid

(3) Static 4), Creditor
Form verb from the Noun gwen
below :

Dlependcnco ) '
%3; Depmthbh g; - Dependeg:y .

\by which of the following ?
(1) Sarojini Naidu

“Indian Weavers” is a poem written

(2) Cecil Spring Rice
(3) Charles Mackay
(4) Ralph Waldo Emerson

Find out the word that conveys the given

meaning (86 & 87) :
86. To make more rapid in speed
(1) - Speedier (2) Accelerate

87.

90.

(3) Affianced (4) Abdicate
Mental weariness from lack of interest
(1) Exile (2) Ennui

(3 Enunciate (4) Expiate

Find out the g;mnunatically wrong

sentence :

(1)¢ He feels bad about the defeat,

(2) All the boy scouts wear half-
pants.

(3) Hehopesto mﬂe good marks,

(4)

Gavaskar i{s the Bradman oﬁ,
India. x

Su ply the cortect preposition in thl

following :

fer Chaucer = Spenser
in :ndtrng English o
(1) than ' ﬂ; from
3) to 4) intd

Find out the mmatlully wmnn
mmﬁ:t tmydnahm
me “
2; mcﬁhnnﬂn
He examined the book

mchuminmvldp

n-n.
g

;..,{

i
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61. ‘afwm. & am | favfrr v et & 69. ‘Fe(rsfgiwaT: Tow far

(1) ush (2) vt (1) «gefe: T
(3) Tl (4) fierm (2) fap woma
62. ‘T THW" & & varyan § Ei; mm
() TR g (2)  En EeE :
() IF=EETER (4) shwb 70. “wfeea 7y dheet frems e - v
' 3w = gera f
63. TR TR % g o Ry B (1) Ry
() g (2) verh 2) toraRENtEg
@) e @ fefrm (3) Hfrdamomy
64. Frefefan & § S W v s k7 (@) e
S S 71. ‘TW: T=f W wEary
2) TR () Wmad ) (2) I esh
Q) e (3) wwmwEht (4) TR T
(4) 99 F% T o s
72, HARI 9 §ev a9." Y
6S. ‘v ufawfa & — ko
(1) aare () Ty (2) sy
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‘R TS HIA F ¢
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(2) A=A H

(3) e Ry W

(4) =i T =

ﬁ.w_ﬁmﬁqﬁﬁm#t
(1) THWTH aEd e
(2) wwuiErgRORE: 7= HE
(3) v it Feay
(4) 7 T
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(1) v
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vIRe” T A fRR g & aruw wiy
RTRE?
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MTT - IV (&) / PART — 1V (A)
TR U f&A / MATHEMATICS & SCIENCE

gt i Wi 3 st & 30 e ol § Al 30 TIIOT U RO T e g |

Candidates should answer questions from the following part only if they have opted for

MATHEMATICS & SCIENCE.

91. P & @ P gawe oo s 0
(1) 2k P an
(2) 2 vt o = o at

(3) 2 W «on & v wrag P
4) :gﬂ; it 5 & st W

92. @ wu Popr F R i
A W OEEE, W F T &
& a ¥ | o = o §
(1)15° (2) 30° (3) 45° (4) 60°

93. 100 Wevil 1 WHT=R WreE 50 W fear
™ | AR TR T awgaE w3 w92
¥ ™1 W 30 3T 29 WA oEr
i B, @ W T g
(1) 50.20 (2) 50.36
(3) 51.15 (4) 51.45

94. wemait1,4,5,7, 8,10, 12, 13, 15, 17
& W[y T WA faee 4.85 ¢ | o
WaE o ° 10 WF Rar 9 @ A

WETT w9 e whm
(1) 48.50 (2) 485
(3) 048S (4) wAINtA

95, it fpdt wroht & o o w T
| 40 At wifbgmt 50 &, @ 3w Tt

% et %7 age W T b
(1) 40 (2) 50
(3) 60 4) 70

91.

92.

93.

94.

98.

Which of the follt;wing has largest
area ?
(1) Acircle of radius \ﬁ cm.
{2; » A square withside2 cm.
3 ?n equilateral triangle of sides

cmi
(4) .A triangle of sides 3, 4 and
5 cm.

In a right angled triangle, the uct
of two sides i3 equal to the half of the
square of the hypotenuse. One of the
acute angle is

(1)15° (2) 30° (3) 45° (4) 60°

The anthmetic mean of 100
observations is found to be 50. If at the
time of computations two items are
wrongly taken as 30 and 29 instead of
3 and 92, The correct mean is

(1) 5020 (2) 5036

3) S1.15 (4) 5145

The standard deviation of the set of
numbers 1, 4, §, 7, 8, 10, 12, 13, 15,
17 is 4.85. If 10 added in each
number, then the S.D. of new set is

(1) 4850 (2) 4.85

(3) 0.485 (4) Noneof'these

If the arithmetic mean of all the terms
of a table is 40 and median is 50, then

the mode of this table may be
(1) 40 (2) 50
- () 60 4) 170

T% H1 & Q9T / SPACE FOR ROUGH WORK
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Vs
96,

(1) 136° (2) 126°
(3) 63° (4) 45° (1) 136° (2). 126°
. (3) 63° (4) 45°
97. TF TH W@ Uw Wt OF W § g 97. A manland a.woman appear for an
A W W Frgfirr ¥ ahafr o ¥ . interview, for two vacancies in the
T & g o9 e AT et | same post. The'probability of man’s
FhgmeR R 15 1T AT |, :{“’t‘". - ;’l};‘wﬂ‘i‘;‘:h:fp o, m““m“;
% frrger 8% it vt Pt ¥ 2 that only one of them will be selected 7
(1 112 (2) 512 (1) ‘112 () 512
(3) M2 4) 124 ' @B) 712 (@) - 124
98. UH WA 75% iR, 60% R d | 98 In a class 75% passed in English,
st @) & e 20% = fawal S 60% passed in Mathematics and 20%
arpefiot & oA ¥ 1 Seftol whver & failed in both the subjects. The pass
1) 55% 2) 65% 0 o o
(3) 67.5% (4) 682% 3)  67.5% @) 682%
99. AXx+y+z=4, 99. Ifx+y+z=4
24y egl=6 3 x4y +22=6and
sty vzl =, iy y, 23 At Xl +yl+ 2l =1, where x, y, z are
ot v Ak At xyz WA} all non-zero, then the value of xyz is
M 1. @2 34 .45 M1 @2 34 @s
: 100. If log,y a + log,, b = log,, (a + b),
100. =R log,ga + log)g b = log,q (a + b), [Pt valion of .l b s given
2, b ¥ 7 frey ew @ wafaa F by the relation :
(1) a=b=] (2) a=bh=3 (1) a=b=] (2) a=bh=3
@ b=77 @ =55 O) b2757 @ =g

Fpa vt v mafsa & e @ ualh
AR I T AR T 28,000 & )
AT TET 4,900 TUA FATRA Ay W HA ¥

116)
96.

|

The pie-chart  below  shows (he
cxpenditure pattern of a person out of
his total income T 28,000. If he
saves T 4,900, then the value of x is

T% %7 & I W8 / SPACK, FOR ROUGH WORK
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1

102,

1 03.

104.

108.

106.

qﬁ_‘.“a - ).flrlh = ?I{T. ?ﬂ atb }.C L
AR S vy = | e

'

(1) -1 2 0
3) 1 @) 2
A Rt @ g g o Ao T6h

W B gt ¥ | sww anite =W
11.2 ¥ 2 suah ot 21 it 3

U ® W T w w04 Wb ¥
Y] W AT &

(1) 300341 (2) 306.2 /P
(3) 31258/ () 322.4 Fp

A x = 223 + 1443 _ 1661 W 5 27V
fasa d

(1) 73125+ R

2) 1naA1I3PHFR

(3) 1l Aw23g=E T

4) 123ARIFA |

W x,y Wz ® um AR oA
(x -i-.y)zfﬂﬁw‘a‘lﬁ‘l'ﬁhxyﬁﬁ}
X2 yr a2 s ang ¥
(1) A2 (2) 9A2

1

(3) 3A2 @) AT

mﬁwﬁmmsstlmm
H TH N R U 4 ¢ 9
e R Al wea w5 9:16% |
qw&aﬁr?ﬁnﬂﬁwm ¥

(1) 40 (2) 29 (3) 28 (4) 50

89%x89x89-3.7x3.7x 3.7
8.9%x89+89x3.7+3.7x 3.7
Wt
(1) 1
(3) 126

@) 5.2
(4) 89x3.7

(17)

101.

102.

103.

W
The value of a + b + ¢ satisfying

xyz =1, ifx!8 =yl — 5l o
(1) -l 2) o
3) 1 4 2

A cylindrical tube open at the both
ends is made of metal. The internal
diameter of the tube is 11.2 cm and
its length is 21 em. The thickness of
metal everywhere is 0.4 cm. The
volume of the metal is

(1) 300 cm? (2) 306.2 cm?
(3) 3M25em* (4 3224cm?
If x = 223 + 144% - 166°, then x is
necessarily divisible by

(1) both7and 12

.(2) both1land 13

104,

10S.

106.

(3) both 11 and 23
(4) both 12 and 83

If the'mean of x, y and z is A and xy
is additive inverse of (x + y)z, then
the mean of x2, y2, 22 is

(1) A? (2) 9A?
(3) 3A? l

4) 3A?
The sum of three numbers is 58. The
ratio of first to second is 4 : 9 and the
second to third is 9 : 16, then sum of
first and third numbers is

(1) 490 (2)29 (3) 28 (4) S0

8.9%89x89-3.7x3.7%x3.7
89x89+89x3.7+3.7x3.7

is equal to
m 1 (2 5.2
(3) 126 (4) 89x37

% & 1T ITE / SPACE FOR ROUGH WORK
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W
107.

108.

109,

110,

M Ats2

T o & o wes et AABC & el

AB A1 AC smat ¥ | W% =T 1

SEE ADEF s mm ¥ | o

£BFD =a, ZADE =, £CEF =¢, a}
A

D E -
B ¥ C.
M =23 g paiis
G) 'c-%ﬁ @) c=2(a+b)

2+224222+2222+ ... % n 9§
aw g

(1) %{1—90-(10"-1)-::}
@) -;;{1—90-(10"-1)+n}
(3) é:'{‘l'gg(lo"-l)—nz}
(4)

¥ 234 9 7 =t A, B st C F
111

b urnsad

5-’3‘12[*“3%‘7"'3‘“‘"'""“3

TR R2: 32 4 & AR e Py
mmmmmﬂmm?
(2) B,%3s
() A Ts6 4) C.tso

T 3t it gt ot e

(1) 9999999 (2) 9999768
(3) 9998244 (4) 9998222

S I Y S r—

SPACE FOR ROUGH WORK

(18)

107.

108.

109,

110,

Itis given that AB and Ac are the
equal sides of an isosceles AABC, in
which an equilateral ADEF s
inscribed. If /BFD = a, ZADE = b,

éCEF=c,thin
D F
B 4 c
M =22 g pate
©) 'c-'—;‘-!’- @) c=2a+b)

The sum of 2 + 22 + 222 + 2227 +
+++- UPLO N terms is

(1) %'['19—0(10"—1)- n}

@ 3{Fao-eds

Q3) %{%Q(IO"—I)-—IF}

(4)

Ey mistake, instead of dividing ¥ 234
among three persons A, B and C in
the ratio::' : ';' : ;i" it was divided in
theratio 2 : 3 : 4, who g8ains the most
and how much ?

1
arno

(1) ATS2 (2) B,t3s

(3) A, Ts6 4 Ctso
The largest number of seven digits,
which is a perfect square, is

(1) 9999999  "(2) 9999768

3) 9998244 4) 9998222
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112,

113,

114,

115,

116.

ﬁﬂﬁmwataﬁmmmmam
¥ 500 % A 3799 # w3 w374 @ oy

- 8%
4 12%

wiwmﬁAaﬂrBﬂ,@m‘ra;a‘h
ﬂmﬁtlmavAﬁBmthhﬂ
mmwmmtmm
TWBH AT TUT A ¥ At saad
aﬂmamuoﬁﬂﬁmtlmm
% 359 altww et andt

(1) 9sfriravar (2) 99 Resit/quer
() 100 Rerrver (4) 102 Rei/aver

R A +x4-‘-=47,ah4 +;Jl-$!ﬂl=r% |

(1) 9 2 15
(3) 18 4) 27

100 3K 200 & e WR arch 3
#@raﬁa;rma’mﬂfwwﬁ.m

1) 1665 2) 1674

(3) 1683 4) 1692

‘Tﬁ'x=2+\ﬁ.ﬁ1x1+$ﬂmﬁ‘

(1) 1 @) 4

3) 12 “4) 16

21a® - 17a2, 8953 _ 64a? + 6a+ 16 R
w9

(1) 68a®-47a2 + 64 + 16
(2) 68a’-47a2_6a+ 14
(3) 682 + 4742 _6a + 16
(4) 68a’-47a2 +6a—16

(1Y)

112.

113,

114.

118.

116.

W

The simple interest on 3 certain sum
computes to ¥ 500 in two years and the
compound interest on the sare sum

the same rate and for the same time

12%

A train runs between two stations A
and B, while going from A to B, its
average speed is 90 kmv/hr and while
coming back from B to A its average
speed is 110 km/hr. The average
speed during the whole joumney is

(1) 9Skmhr. (2) 99 km/hr.,
() 10kmhr. (9

Ifx* + ;‘1- =47, then the value of

X +'1'lj is

M 9 @ 15 3)13 4) 27
The sum of numbers between 100
and 200 which are divisible by 9 is
(1) 1665 (2) 1674

(3) 1683 (4) 1692

If x = 2 + 42, then the value of

x’+%is

M 1 @4 @312 (4) 16
How much is 21a - 17a2 Jese than
89a’ - 6482+ 6a + 167

(1) 6Ba’-47a2+6a+ 16

(2) 68a’-47a2-6a + 16

(3) 68a’+47a2_6a+ 16

(4) 68a’-47a2 + 63 16

102 km/hr,

T& %12 % frg My / sPAcE FOR

ROUGH WORK

|
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W

117. W T 1 B0 SOh3 A R o
W=7 A A WEH AE aF R Ao
TEE

(1) 12000392  (2) 15000 Q=R

(3) 1600092 (4) 25000 A=

118, TR Wil F AT H 1 4 W

Fa g AR TR A F 4. 5w
Faa §, 7 I St F e ¥

(1) 2:5 @ 5:4
(3) 15:16 (4) 25:64

119. 10 . @R, 6 W = 3k 22.5 At

Ad farw = § feet @
FavgEma E, aft wew T W AT
25 Wt x 12 T f x QW &’ 2

(1) 4500 _(2) 4800
(3) 5000 (4) 5500

120. fa3 ABCD ® AB = BC @1 £BAD
sl ~BCD sy £ 1 AD 3R CD ®

T R BT |
C
B D
A
(1) AD<CD "~ (2) AD>CD
(3) AD=CD (4) AD=2CD

(P41)]

117. A sphere has a diameter Sth em.
The surface area of the 1. gest
possible cube that would it in the
sphere is /

(1) 12000em? (2) 15000 cm?
(3) 16000 cm?  (4) 25000 cm?

118. The volume of two cones are in the
ratio 1 : 4 and their diameters are
4 : 5, then the ratio of their height is
() 2:5 (2)::5:4
(3) 15:16 ! *Eﬂ 251 64
afﬂ. .

i
119. How many bnch will be required to
construct a wall 10 m long, 6 m high
and 22.5 em thick, if each brick

measures25cmx 12cmx9cm ?
(1) 4500 (2). 4800
(3) 5000 (4) 5500

120. In the figure ABCD, AB = BC and
ZBAD and ZBCD are right angles.

Find the relation between AD and CD.
C
B D
A
() AD<CD (2) AD>CD
(3) AD=CD (4 AD=2CD

T W8 % T W8 / SPACE FOR ROUGH WORK
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121.

122.

123,

124,

125.

126.

T4 A WA WA R 0
(1,00, (2) 1INO,
(3) CH,CO00H (4) HCN

ST WaEd At HeEa 4 W fE
Fyrmait o @ v & s X, e &
(1) gy daeq

(2) T T

(3) aFg HEw=

(4) Frafem dags

TRERH B W | Rt vl e X
(1) |H @ H
(3 iH (4) |HTH

o 3w ot | e W 16 =
Lo 4

(1) 1000 (2) 10000

(3) 1010 (4) 11000

w Faw P st it wfsg w3
TR I & ofaw Fa W T & oaiv
ot sniftrem fufiral & A e Qegeindt sic
foftm e wrr R §, SR = k

(1) P (2 T

(3) wEwm Faw (4) SR
v it () ot &

(1) wFRTd (2) wHdgd
(3) wmtfemd (4) FHagd

127. WEge N ¥ qer araga k

(1) CO+H,
(3) CO+N,

2) CO,+H,
4) CO,+N,

128. TREer & W fem v @ Rred € 2

() mmemffe (2) a=rwe fufe
(3) weme fufw  (4) dhreae

(21)

121.

122.

123.

124,

128,

126.

127.

128.

Which one is strong acid 7
(1 H,CO, (2) HNO,
(3) CH,COOH (4) HCN

Blood circulation that starts in capillaries
and ends in capillarics is called

(1) Renal circulation

(2) Lymphatic circulation

(3) Hepatic circulation

(4) Portal circulation

Which Isotopes of hydrogen is

known as heavy water? -

(1) H @ |
¢) H 4) HendlH

The decimal number 16 in binary
number is

(1) 1000 (2) 10000

3) 1010 4) 11000

A tissue whose living cells form the
mechanical tissue of actively
growing organs and whose cells
walls show un-lignified Cellulosic
thickening often at comers is called

(1) Sclerenchyma(2) Parenchyma
(3) Collenchyma (4) Pericycle

Numeric key is situated in

(1) Monitor (2) CPU

(3) Hard disk (4) Keyboard
The main constituents of producer
gas are )

(1) CO+H, (2) CO,+H,
(3) CO+N, 4) CO,+N,
Coconut fibres are obtained from

(1) Exocarp (2) Endocarp
(3) Mesocarp . (4) Seedcoat

T 1Y % (MY W/ SPACE. FOR ROUGH WORK

WTET TIFIY IS AL I TY I WA fEAR B WA anwe e uras vy
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W
129, 2 #

() 3 9 a@ st ¥ deweht
U3 & S |
B3fae a=ita wewhz |
I Aol I e F debe
Ut & Far |
I Avit T e ¥ dewel
U3t & wavr |

awe- 0t Ryafim & ;
(1) ffm-@t 2 MR-t
) Peftm-v @ @4) fefm-%
T | WAt

(1) IR TEmwTRE

(2 TEHEWRmIR TR L
Q) I dwram E )
4) T TR T F

mmmmt
(1) w 2) TwifmEr

3
WA ¥ wga ifien s § wifs

(1) ar ow t e vt
!iﬁmml
(2) 7% wEEEst T T

3 saretEor 3t afuw ¥
:4; :gi‘ diﬁmna?v?a & 3k
TS o YA e ¥
Prefefam F @ ¥ @ e @y =

e

(1) s () "=

(3) aw @)
WA A9 Wl ) wer sty ot
() Hyhed,

(2 Nyt

(3) Oo,hm¥

(4) o Al o v

(2)
()

)

130.

131.

132.

133.

134.

138.

T ST & (MY AT/ SPA

@) I d At

(22)
129.

130.

131,

132.

134,

135.

133.

Soaps arc

(1) Alkali metal salt of lower fatty
acids.

(2) Dodecyl benzene sulphonate.

(3) Alkaline metal salts of higher
fatty acids,

(4) Alkali metal salts of higher

fatty acids. '

Antisterility V.itamin is

(1) Vitamin-B (2) Vitamin - E

(3) Vitamin-A (4) Vitamin-K

Passwords enable users to

(1) ' simplify file structure.

(2) ' makse efficient use of time.

(3) get into the system quickly.

(4) 'retain confidentiality of files.

Aquatic and insectivorous plant is

(1) Utricularia (2) Dionaea

(3) Drosera (4) None of these

Carbon forms a latgé number of

compounds m::y m
covalency is four.

(2; It forms covalent bond.

(3) It has strong tendency of
(4) Its compounds are combustible
and have low M‘? & B.P.
Which of the following is not an unit

(1) weber/metre? (2) gauss

(3) weber (4) tesla

Speed of sornd at the same
(1) 'H, Gas

(2) N, Gas

(3) O,Gas

(1) It i3 a non-metal and its
catenation,

of magnetic field ?

temperature will be maximum in

(4) _Equal in all gases
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136.

137.

138,

139.

140.

141,

142,

143,

Fram quihgyd gt @ 0
(1) wfe=tan (2)  amfmm
(3) mfmm (4) vERTH

Tt # v Prefafaa 4 | feas

HRoT B & 7 _

(1) Na* w@ K' & woRmgq 3R

TEHE & HA |

Ca?* @ Mg?* & weiwgd 3k

TR & W |

(3) AP HTRRE TR F o |

(4) Na* @@ K* & SRR ¥ BT |

Fopst A wommpet ¥ W & g
I I

(2)

RIWEROTE
(1) ast wzhor vy
2) Haer i iy
(3) =T A ity TRty
(4) o wwor nfiy 3 7 & Wity iy
wm&mWﬁAmBm
T vt tzuaawaﬁiﬂ?
(1) uwwdEid-A -
(2) uweErE-B
(3) ¥ e T
(4) THT A A B et
freifafae o frmt s s & 2
(1) 1gH, (2) 1gN,
(3) 1gCH, (4) 1gCO,

1.5 30, 0.05 3w a7 0.25 2% ¥ Wy
aﬂﬂmﬁqﬁlmqwnﬁmm
(1) 1.803m  (2) 1803w

(3) 1.35 3w (4) "13.5 s
WA awm R it

(1) Wl (2) Tom wowh
(3) ot (4) P e
A PRw uI = armen § 9

() #ifmm  (2) =w

3) P 4) I

(2y)

— e

w

136. The cladode among the following in
(1) Parkinsonia (2) Acacia
(3) Opuntia (4) Asparagus
137. Hardness of water is due to which of

the followings ?

(1) Chlorides & Sulphates of Na*
. and K*

Chlorides & Sulphates of Ca?*
and Mg?* !

(3) Nitrites & Nitrates of AB*

(4) ' Carbonates of Na* and K*;

138. Magnetic ﬁeld«pmduoed by elactronl
" in atoms and molecules is due to their

(1) spinmotiononly .

(2) orbital motion only

(3) spin and orbital motion both

(4) neither spin nor orbital motion

It‘ a n has anti A and B in

Which antibodies mll be

present in the serum ?

(1) Antibody A

(2) Antibody B

(3) No Antibody

(4) Both Antibody A & B

Which of the following . contains
maximum number of molecules ?

(1) 1gH, © () IgN,

(3) 1gCH, 4) 1gCoO,
Three resistors of 1.5 Q, 0.05 Q and
0.25 2 are connected in series. The

2

139,

140.

141.

uivalent resistance will be

BB 1.80Q ) 1800

() 1.35Q @) "13.50
142. Which is not a true fish ?

(1) Lungfish (2) Silver fish

(3) Cat fish (4) Dog fish
143, Calam&(nc is ore of wh;ch metal ?

(1) agnesium (. Copper

(3) ngn ; Iron

T% W1 % [ T8 / SPACE FOR ROUGH WORK
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144, v 396 4 PR wwa 34 o5 il
My vF Haaw & Pl s il
| et &, F Y AN R i e
) o g

(1) 13 (2) 13T
(3) 05TRRT  (4) - 0.5zANT
145. 9 W FaF W F fah= i § e
e & qon vl & fafir= v B TR e 2
(1) ¥ash Fw
(2) TIw
(3) P Faw
@) iy s
146. Frerfefan # | #i7, w s & 2
(1) W - 2 fEAwdE
3 ™ (4)
147, W aE A ¥
(1) 0°C (2 O°F
(3) -273°C (4) -273K
148. U uieliftrrdt Fow Rae .rach e
it o et & femt @ o o
At & 7El RO W gT enE 9 el
&, "wrn st

(1) e & el 3 |

(2) oTIE F qEd TE |

(3) e 1 il AR |

(4) =il e @ el wm oo

144,

145.

146.

147.

148.

A vcomvex lens 1 focal Tength 0.5 m
and concave lons of focal  length
1 m are combined. The power ol
resulting lens will be

(1) 1D (2) -1D

(3) 05D (4) -0.5D

Which tissue is widely distributed in
the body and also forms most of the
parts of body ?

(1) Connective tissue

(2) Muscular tissue

(3) Nervous tissue

(4) ' Epithelal tissue
Which;+of i the . following is a
compound?- ' .

(1) Petroleum - (2) Kerosene oil

(3) Milk - (4) - Glucose
Minimum possible temperature is
(1) 0°C: (2) O°F

(3) -2713°C 4) +-273K

An epithelial tissue which has thin
fat cells arranged edge to edge so as
to appear like closely packed tiles, is
found

(1) Inner lining of Stomach

(2) Outer surface of Ovary

(3) Inner lining of Checks

(4) Inner lining of Fallopian tube

Y " 149. Which of the following is not
149, T A T WEW A 0 e 7R method of concen?ntion -
(1) %A faf 1) Froth Flotation Method
(2) mi’aﬁ % Iél:lgpetip Method
3) cination .
(4) o g fafu 4 . Cravitational Separation Method
150. E:?*?WMMWW* 150. %;Lgl;.t of a body at the centre of
zefo
@ §§l | ill‘ltggilt:uthanweight 1
‘1 on poles
8; EIQTW;LRT' 3{'!2::?&‘51 it 4 littleto less than weight at
Fergee equator.

T %12 % 4T ITE / SPACE FOR ROUGH WORK
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LA

(2%)

IV (3)/ PARI
amts srga= va 3 fama / SOCIAL STUDIES

W
A ll!)
S & OTHER SUBJECTS

TS FrAfelRad M1 & Ut & 39T Hae @) ¥ A1 IR IR oI Ud
forem = fgmmea gt

Candidates should answer the questions from the following part only if they have opted
for SOCIAL STUDIES & OTHER SUBJECTS.

91.

92.

93.

94.

95,

96.

97.

98.

99.

ﬁ%ﬁmﬁﬂﬁmmaﬁﬁm

R

(3; quﬁm wg) F:rqrr

0) demw (4 w0
m;nzm#masﬂ“mﬂa&

u’twmaﬂth
10 R 1948

(1) 10 1949 (2)
(3) 10Rw=T1947 (4) 10 RE=w 1946

gwmiilgsgﬁmﬂ-mm

o=ty

(3) Farm = vt |
(4) v T 3
T F g TEY ¢
() ¥BTI6/ () FBTI7®
(3) FHDT 18 &_) Mﬁﬁnoﬁ
L LI B |
ﬁﬂw% I B T
- -n
% Eﬂmm (i) 37 360
ﬂmTW (1) ] _312
TR iii) 37 368
ggmﬁm ?1:3 . 280
d
H : (s:z) ':' )
(l (u iii
et = 3fm
(1)2 l (2)3 2 (3)4:3 (4)5:4
aear f g amah & sonaw §

( fow

¢} F&s e
k) .

EJ mm

91.

92.

. 93.

94,

96.

7.

98.

99.

Which one of the following States
does not form border with adesh ?

1) Manipur Meghalaya
§3; Mlzogam 54; Tripura
Bmladlla mmes are known for

1 Mica
Ea} [mm . @ Diamona
Assembly of Uﬂ O, passed
the Decla:anon of Hl.lll
Il'h “’
lO Decun
e g e e
an
1 R%?asthan & Andhra Pradesh
2) Rajasthan & Karmnataka
3 Andhm Pradesh & Gujarat
4) Tamil Nadu & Rajasthan

'?3"i Amendment of Indian Constitution
is associated with

1) Centre-State Relation

2) Powers of Supreme Court

3) Powers of Election Commission
}4 Panchayati Raj System
Abolition of Untouchability is
associated wu

1) Aricle 1 2) Atticle 17
3) Anricle 18 (4)_ Article 19

atch List-1 with List-II and select the
correct answer from codes given below :
List-1  List-1I
(a) Finance (i) Art. 360
Commission .-

(b) F:nancml (ii) Art. 312

« Ravsatha () At 268

Constltutlonal iv) Art. 280
endment
Co : ?’
a \
{ : )
: doae
3 il v) ( i
4 tw’ (I) (n i
bm tflrh imln:rt l;elw length and
2:12) 3 3’43(4)54
\"ho is thé tVlﬁo-Preudent of

\g‘%ﬁ“ uwalia
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VOO =073 3= o) Al wiasiedlg ajag 3

(1) A= (2) zeygog .

(3)  FHAw (4) THT3
101, a9 ] s fom §

(1 a«'ﬂ;&rqr(aﬂa’ff’sun

(2)

(3) a‘hﬂ

(4) wmrd
mz.mﬁmqnﬁﬁmm#m

WA fan o

(1) v

() iR

(3)

M WP
103,

(1) =it (2) ¥

(3) el Raé?) T
a s mw (2) ﬂmﬁt

53) I 4) e
108, ﬁqﬁ#mqﬂmt? '

(1) vt wetafm - o e
2) %?am ﬁmﬁﬁr

(3) wedm _ weltsrem = ot
(4) . TS sowlt  — wErEw Ry woneh

106. AR B 79
(1) Irduw (2) Ambe
(3) wuw (4) veEE
107. ﬁnﬁaﬂ:nﬁﬂmwmmwm
(1) Rfepm
(2) aPR 3w g
() e T
4) Ran ey
108. wuy tg&wﬁqf;t i
(l) (2
(3) ﬁﬁ (4) gwed
109, aifeer 3 e oF s o Provan

(1) 63w, 1945 3 |
(2) 9 mmm, 1945 3 |
(3) 7 3mm, 1944 WY |
(4) 15 3rTay, 1943 4 |

mﬂwmmn&hﬁﬁmuﬁ

w2
1960 : (:)

(1)
(3) 1962 4)

t10.

1961
1963

(20)

-

: .,.qu-

.

ML International |nahnnnn1 related 1o

child welfare
(1) 1L.0 (Z2) W.H.O.
(3)  UNICEF (4) F.A.O.
101. Where is Angkorwat situated in
modern time ?
1 Kampuchea (Cambodia)
%2 Sri Lanka
(3) China
(4) Myanmar
102. Which d ruled over Kannayj in
the medieval penod in India ?
1) Rathod
2 ijlu- Pmt:hm
3) Chauhans
4 Palas

103. tunploum\ntedat

f‘} Calion™ 8L Decean

104. Who wroteS ;
{3; Sheikh ﬂ ?}’

O L ¢ pemen

F‘u'dausi
Kaundilya

., Settlement
(2) Lord William Doctnnc
. Bentinck - of Lapse
(3) Lord Canning - Abolition of
f Sati Pratha
(4) Lord Dalhousie - Subsidiary
Alliance
System
106. Who was Marcopolo ?
1) An explorer 2 Scientist
3) Writer Publisher

107. Which of the followmg was the first

Indian newspaper
lf The Tn;pune

§2 Times of India

3) Bengal Gazettes

4 oung India

108. The first underground Railway was

built in
8 New York }2 Delhi

London

109, gmeﬂcni ocilmpped atom bomb on
1 Gil 1945
o RAER R

” lS"AAum 1943 K

1 Organi
gmoﬂgwhﬁch)ﬂr? v il
(l) 1vs0’ @) . 191
3) I%& (4) 1963
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1. %R w1 waifys st gt &
o ?ﬂmmﬁdﬁﬂ
(2) L300
ga) h&?

(4) aity s o

mmwmmmmaﬂn

(1) swf@E (2) =imw
(3) werw | 4) =

Prffa & 2 o vt et 72 1
(1) wiwd 2
4 =Ed

112,

113.

114,

HRrifrar

2) w
(4) muﬂm

11s. SR ¥ efgor
\ et

(1) v o o
3) et &

116,

117.

3 .
) T e vt

118, s &
R e
(1) fevesr  (2) whram
(@) frm @ P
119, Presfaftre o 2 we  ogr e 2

TEE

(27

w

111. Maximum consumption of coal is
attributed to

1)  energy generation

2) iron and steel plants

3) nmilways -
steam ships

Which of the followi country is
not a member of SAARC ? '

1 &rym tan (2) Myanmar
§3; div&: I§4_\;'H'mBhutm
the following is the

" Mahanadi ¢
, Krish g;waaﬁﬂry
“Which bne of the following is not used
for calculating the age of thé Earth ?
(1) _mirfom:?me Moon -
Salinity in the Oc&ans
Attractional Togce of the Earth
Rate of Sedimentation

‘Death Valley’ in south
California, U.S. . is an example of
%} Anticlinal Valle

112,
113.

114,

Antecedent Valley
3) Rift Valle(,

Synclinal Valley

116. The Mayon volcanic mountain is
. situated in ;

(1) US.A... _ (2) Hawaii Island
(3) Chile (4) Philippines

In which of the following districts
India’s largest mica belt is found ?
(1) Balaghat and Chhindwara

(2) Udaipur, Ajmer u:l:d Alwar

(3)  Hazaribagh, Gaya and Monghyr
(4)  Salem and Dharampuri

The wat

raiTe ‘and & "wind
mn-&m&&%m

(13" Brick Feider @ ﬂﬁ.ﬂ Roller
of the ollowing is a

117.

118.

119,

Which

120,
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121.

122.

123.

124,

128,

126.

127.

128.

129.

130.

bag 31 g 4, b s g2 n
(1 ¥ 7o e

(2)  ¥Tae g2

(3) 3wy

(4) o
?ﬁﬁia?maﬁaaﬁ%ﬁwmm
(1) % F gifeaor

(2) FRF yaht o W@

(3) Firamd oy ° Ry

(4). eI
ﬁqﬁqﬂmﬂﬁ-‘ﬁm'mﬁmwm
Y Afuwt o

(1) = amw (2) 7@ |
() aEw  (4) L:lucy
amt dhoe. R der @ wrafm & o
(0 (2) =

3) T (4). WSS
mﬁwmmmm
fer g 2 o --

(1) T (2)~ Reeelt

G) = @) g
mw@awh Y .
(1) (2) arEeEe
(3) el st (4) dshrem

w1 aqwvee @1 wguor @ g

[Ha 7

(1)

) mm

() T TS

gg&qwﬁm t
1 HF wqaE & 2

(1) ;gw (2) i e

Q) P (4) www

Wt B e 8 el g o

e AL

(1) T,

(2) ¥R

() &

(4) ey "

™ 7§ I0d wma F Wy W gz

w3 ot ¥ wify

(1) whitd Reffen cx g .

(2) At & wdt e e e g ¥

k)] aﬁrﬂmqﬂwqw#w

(4) 'wﬁwﬂmmtu

{2/

121, The Bihu dance s orgmated  from
which State of India

(1) Andaman and Nicobar

(2)  Arunachal Pradesh

3)  Assam

(4) Chattisgarh

122. What is not useful {0 Increase
agricultural production 7
Fn Mechanisation in agriculture
2) Increased use of fertilizer
3)  Enhanced irrigation facilities
4) Deforestation

123. Which of the following seas has the

»

highest salinity ?

1) Red Sea
2) Dead Sea
3) Medi Sea
4) Caspian Sea
124. LP.L. is related with which ame ?
1) Foot Ball ) ocke
Cricket 4) Basket Ball
125. In India where the first Asian Games
IS organized ?
I; Calcutta 52 Delhi
3) Chennai 4) Mumbai
126. Which is the National ¢ of India ?
-Hockey (2) Basket Ball
(3) Volley Bali (4) Badminton
127. Atmospheric pollution can not take
lace ll:_uIy
| ydrogen
2)  Carbon mono-oxide
3)  Sulphur dioxide
4 n dioxide
128. The main factor in water pollution is
Smoke
Industrial chemicals
~Ammonia
4) Soaps
129. The most recent air pollution tragedy
lrll f\?ll%u traged
-gas g
2 Hirosﬁima-bomging
N(3) Earthquake in Iran
4) Chemobyl disaster
130, In recent years the incidence of floods
has in lnorth India because :
(1) rate of sii ng has incredsed in

- m L]
2) rf?nglt h:’vmkt]:“et-.-nt destroyed in
! 8.
3) ‘,-ﬁm Imm and is used for
: re.
) there o inct’m in amount
of annual rainfall, _
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131,

132.

133.

134, oot

135.

136. ‘@i

137.

138.

139.

140.

PR LA B qremtes o
(1) HPT .@

(2) b w5 A are

(3 faw 5
(4). "=

WIRT H ® A1 =] T @) T 0
(1) am 2) W
(3) i (4)

(4) Hum
599 ﬁxr-qqmﬁﬁﬁ;ﬂmw
Mﬁqﬁ%?fﬁaﬁwrw

ﬁmmg

(29)

131.

132.

133.

134,

138.

136.

137.

138.

139,

140,

W

Which is not the tonventional source
of energy ?

(1) Coal

(2)  Electricity from Nuclear energy
(3)  Solar radiations

(4) Petrul

Which animal has become extinct in
India ?
(1) Tiger (2) Lion
(3) Chectah (4) Leopard
Rain water collected often 30 to 40
minutes of raining is not suitable for
drinking because it, A
? l; contains bacteria and dirt.

2) contains  dissolved toxic
" chemicals.
(3; is deficient in minerals,
(4) s acidic.
Which Sultan of Delhj imposed
Jaziya on the Brahmins also ?
(1)  Mohammad bin Tughlaq
(2) Allauddin Khi lji
(3) Firoz Tughlag
(4) Balban
Which one of the following pairs is
not correctly matched ?
(1)  Devipatan Mandir - Tulsipur
(2)  Vrindavan Mandir - Mathura
(3)  J.K. Temples - Lucknow
(4)  Vishwanath Mandir - Varanasi
What is the Latin name of Gold ?
(l; Argentum (2; Plumbum
(3)  Natrium (4) Aurum
Sharada Act fixed the minimum age

of marriage of girls and boys
respectively

(I; 14 and 18 }2; 15 and 21

(3) l6and 22 4) 12and 16

Who is the Speaker of Uttar Pradesh
Legislative Assembly ?

(1) Mata Prasad Pandey
(2) Niaz Hussan
(3) Swami Prasad Maurya
(4) B.L. Joshi
At the 59™ National Film Awards,
who was declared the best actress ?
}l Vidya Balan
Kareena Kapoor
§3 Priyanka Chopra
4) Rani Mukhetjee

Which one of the following Indjan
State has signed a § 220 million
agreement w:ﬁ;| the World Bank ?

(3) Kerala —(2) Maharashtra
"1 Rihar (AY TPaftar



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

. )

142

4 it R | wadS feer =
ST S

() FTwEAEsA

TERECA

3) "=wEAA

@ =fouwiaq

fFor S 1 WAl %9 R AR 7
(1) WHFAT
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143.

144,

145.

146.

147.

148.

149,

(D

150.

(@)

3) WEIAAW
) FWIEIA W
e W FAF 56 WeK & 99 ¥ o

e

(1 = 2 T

(3) Tl (4) A

fﬁqmwmmm
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(1) =t &, Fer

(2) @,
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(4) =, S, e
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(4)

g1 fireret & 2

@) FFEaNE ™
@ fmw@

()
3)
TN
(1 qRd

(2) BT uRa

(3) TG A

(4) IR

fofefan o @ 9 W @ WA
ufreser § wanT A4 o e & 2
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141.

142,

143.

144.

145.

146.

147.

148.

149,

150.

At the 83" Oscar Awards the best
film award was won by :

(1) The Social Network

(2) The Fighter

(3) Black Swan

(4) The King's Speech

When is ring cushion used ?
(1) During Cold
(2) During Cholera

3) During Sprain

4) During Bedsore

In which type of clothes gum starch
is used ?

(1) Woollen clothes

(2) Cotton clothes

(3) Silken clothes

(4) Nylon clothes

Enzyme ptylin is present in which of
the following ?

(1) Gastric juice

(2) Pancreatic juice

(3) Saliva juice

(4) Bile juice

The secondary colours are
(1) Orange, green, violet
(2) Red, green, violet
(3) Orange, blue, green
(4) Orange, violet, blue

One of the following Veda is musical :
(1) Yazur Veda

(2) Sam Veda

(3) RigVeda

(4) Atharva Veda

Alluvial seil is found in

(1) North India

(2) South India

(3) Ganga-Yamuna areas
(4) Eastern India

Which of the following chemical is
not used as fruit-preservative ?

(1) Potassium Meta bisulphite

(2) Sodium Benzoate

(3) Sodium Meta bisulphate

(4) Calcium bi-carbonate

How many Swar are: in one Saptak ?
(1) 14 2 12

(3) 11 4 7

One kilobyte is equivalent to

(1) 1000 byte

(2) 10000 byte

(3) 1024 byte

None of these

(4)
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